| Efficiency vs Dxy |

> 0.1
<

5 S A T T
SO A S A
< Lo S

3.08
D
D.07
©
0.06
0.05

0.04

0.02

R0 N T

!

Ratio

q__'.'. .... """" '

08t

| Efficiency vs Dz |

_JB20-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mKFit_TTorigmal
—e— DQM_mKFit_TT_pL
—+— DQM_mKFit_TT_pLW

pLW_1H

~N 0.1
©
D.09H-
Py
Hos
(&)
£0.07
()
0.06 |+

0.03
0.02H

—.— DQM_mKFit_TT_

............................

0.05 [EEHH- -t HHTHE :
0.0aEHH T HH

001;_ RIS

Qe

Ratio

0.6t HIHHH

5

. *

BN P
i

20 30
TP dz (cm)




	Contents
	Page 1


